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6. In the figure above, what is the y-coordinate of the gﬁ“f ?
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X-axis?

2. Ifs:1 andq:1 and if x=2 and y =3, what
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3. In AABC above, what is the value of r +s+u +v?
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1 inch

4. If x> > x* and x > 0, what is one possible value for x?
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9. A wheel has an outer diameter of 11 inches, as shown

above. The rim is 1 inch wide and the diameter of ®8c®>
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2022 angles that are nonoverlapping. What s the into the hub and = inch into the rim, what is the sum |@@E@®
?[ Vle! measure, in degrees, of one of these angles? 2
E)ES”E)B of the lengths of the five spokes, in inches?




UB SAT 2009

Worksheet #25

Grid-Ins

Answers

1. 8 2.5
4. 0<x<l1 5. 45

7. 120 8. 207

3. 220

6. 3.5

9. 30



